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Note : Four possible answers A, B, C and D to each question are given. The choice which you
think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filling two or more circles will result in zero mark in that question.

Gross national product relates with : re b JI’J § sl u’}' ,'lé 11
Agricultural product bk (§ (B) Raw material =it (A)
Exports <=z (D) Finally prepared goods < s\ >4 (577 (C)

After subtracting indirect taxes and  : .T_L“Smf Lp?uf/tgé_:/ Gt §, J"C:Jz/u[.rﬁ.-dfﬂjiﬁ,d i N2
adding subsidies in net national product, we get :

Gross national product st § frté (B) National income L.b 87 (A
Per capita income RALE) Gross domestic prodlict Mz -G (C)
Government securities are : DU S k-3
Near money ;J(j"} (B) Metallic"money ;}Jlm (A)
Inconvertible paper money JS%8,kJxZ (D) Money of account .idl> (C)
Value of money means : e dlp e b § )4
Circulation of money J://Ju (B) Exchange power of money .J:L_/.:,}ILJ (A)
Supply of money 1~ (D) Demand for money ¥ (C)
One of the following is not obstacle in credit.creation : £ u.‘én:&utd:g&}d:@l.ga.ﬁdsbn 5
TranSaction‘through checks Q‘:@éﬁ_;iéu:g@ (A)
Helding\net cash by the people %JﬁJﬁz}faL@Juﬁ (B)
Shortage of debtors afd/uubu"')' (D) Shortage of securities JJQ?W (C)
The main function of cenftrabbank is : e 2} i1 HQ $Srl6
Depositing /& (B) Profit earning WEe (A)
Loafing ko) (D) Monetary stability of economy (15,7622 (C)

The burdenof indirect tax finally falls on : P e by W z4¥ Jg L9 |7

Government {.:/:G (D) Producer ;2T (C) Shopkeeper (/46 (B) Consumer 457 (A)

When tax rate increases with the increase of : ?.t[gkr/JE’d:]?LQQXU@:C;JJE;‘&ZL}ATuT«J. 8

income, is called : )

Directtax e (B) Indirect tax  UZh1sl (A)
Regressive tax /%4 # (D) Progressive tax /%412 (C)

The main reason for international trade is : Lee 2 Dbk J e St
Specialization Ft—ad (B) Profits c:,th},L‘f (A)
Mutual cooperationgsWsy (D) Production of goods and services JDL%JQL@J?L.:" (C)

Involved in the balance of trade : ¥4 JE <JF U179 [10

Visible goods 13, (B) Interest on foreign loan ey 585 A

Financial aid s/l (D) Expenses on political affairs = b.7l/.#*I5 (C)
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Perfect competition KJ;L‘JAJ"( (B) Monopolies Uy sbe/l! (A)

Agriculture 6= (D) Trade k= ¥ (C)

The largest industry of Pakistan is : e e e o § o1
Textile wa? (D) Ghee Jf (C) Cement JM (B) Sugar d/ﬁ (A)

One of the following does not affect economic development : q.,tﬁd.'.‘i'flﬂjf{&.)vi {r..g:;,uf‘): 3|12
Language b (B) Natural resources (150,40 (A)
Social evils U¥zG (D) Political situation Jbes 5L (C)

One of the following is not used as measurement of : bnﬂUW!{;}LJJgJ o8 beLI e S 50|13

economic development :

Per capita income 47”3 (B) Real national income (476 7E> (A)
Better living standard d’;};_igx}'-f‘ (C)
The ratio of manpower in different sectors =/t U™ ¥ 5= 3531 (D)

Cause of unemployment in Pakistan is : D e B J d;b"}ua._. e e L{14
Increase in savings SWIJUS% (B) Industrial backwardness Lﬁrt‘ffﬁ’/ (A)
Fall of interest rate  (Jtor0,% (D) Deflatioh .k (C)

Human resource development is possible through : ;i u‘g’ J} d/ éus &Uf 15
Reducing investment ;:_.L)?BJK_,L ~ (B)  Increasing pank rate = b4 50 /° (A)
Education and training r.:..af_r.f":,/-"j (D) , Censtrueting roads ;.L&u:’} (C)

Stock Exchange is part of : fe 2 ﬁg! Jel16

Capital market 6,1 .1\ #(B) Money market K50 (A)
Goods market £, L (D) External markets Kugjca&%. (C)

Cause of inflation is : P 2 $ o pit|17
Low prices d.""g{ (B) Decrease in value of money d/ui';ﬁ&} (A)
Increase in expdits JiUs= ki (D) Simplicity g;l/ (C)

Governmentdngome in"Pakistan mostly depends upon :  : & M S sl K QuT §F 0 L{18

Direct taxes ;ur’:’/’ybau (B) Indirect taxes {urgliﬁg (A)
Income tax {Jgﬁ (D) Property tax {J%;I{ (C)
Part of Pakistan's exports is : e 2 F euld u 119
Spare parts =iy (B) Petrol Js5 (A)
Leather products =bs#1{c_% (D) Cars (/.6 (C)
Islam opposes : fe b i) 20
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16 2. Write short answers to any Eight (8) questions : :é‘aylzfﬁﬁaﬂlr 8) #7T = J/ <2
(i) What is meant by National Income? e lp e QuT U7 ()
(i) What is meant by Gross Domestic Product (GDP)? ‘.’c;_:f/y/c;. (GDP) ;!s!,_:,;(frt; (i)
(i) What is meant by personal income? feesly V< Qat u"’é (iif)
(iv) What is meant by depreciation allowance? S iy V< ebl? L Lﬁr/ (iv)
(v) What is meant by Barter System? el e fB L b erlols (v)
(vi) Define money. _5{ ...g:/’ d/ 27 (vi)
(vii) What is meant by value of money? S oy b § i (vii)
(viii) What is meant by supply of money? e gy Yde s § 25 (Vi)
(ix) What is meant by bank? ol e K (%)
(x) What is meant by speculative demand for money? e sl l{ e A u.‘:‘; J 2 (X)
(xi) What is meant by credit creation? e sly V < J:V. J A® 45 (xi)
(xi)) What is meant by Qarz-e-Hasna? Seslp U e 2o PP (xi)
16 3. Write short answers to any Eight (8) questions : 1£~.".«Uﬁ/‘?£:-mr (8) Fle (jf -3
() What is meant by private finarce? ey Ve eyl & )
(i) What is meant by indirect tax? Se sy V < Jg L9y (i)

(ili) What is meant bysxcannon of equality of taxation? ?..;..:y_w.:,_-.uudﬁéur? (iif)
(iv) Differentiate between direct and indirect tax.;g‘,-f Uk O S u’g LI sl el oz (iV)

(v) Write down.the definition of domestic trade. LSS dE v
(vi) MWhat i$ méant by balance of trade? Sty Ve e ity (vi)

(viiy Write down four disadvantages of international trade.. & .:.«tla'iigé.:ulfd 1Y (vii)
(viii) What is meant by unfavourable terms of imports and exports? fe_l e 4 T4 TnasrJirt (viii)
(ix) Write the name of four important industries in Pakistan.&= /7t UALL Sut/] (ix)

(x) Write down the four major crops produced in ?uganlﬁu:wdzjgdu{/ﬁuﬂg (x)
Pakistan.

(xi) Write down the four proposals for industrial .&¥ v, s 4L L5 JL-JL"/@ (xi)
development in Pakistan.

(xii) Write the formula of per capita income. _é U ¥ LS r)” J.u’ L/ d (xii)
(i'(}ﬂ)




